 Part I: Reading (15pts):
A/ Comprehension (7pts):
Read the text carefully then do the activities. 

  School Leaving Age Set to Rise to 18
The British government is soon to pass legislation that would raise the school leaving age to 18. The new plans will come into effect by 2013. Pupils will have the choice of staying in formal classroom education that covers academic lessons, or of receiving vocational training. It is the first major revision of the compulsory education age limit since 1972, when it went up to the present 16 years old. The government hopes the additional two years of schooling or training will bolster the quality of young Britons and ensure more British youth have qualifications or workplace skills. If successful, Britain may be able to boast the best educated and most highly trained school leavers in the world, which is bound to have positive knock-on effects for industry and the economy. It should also bring down levels of crime.

Britain’s Minister for Education Alan Johnson told The Times newspaper that it was "repellent that a youngster of 16 is not getting any training". He lamented on his mistakes of the past, saying: "I regret not staying on in education... when I left school there were loads of jobs you could walk into without qualifications. That's not going to be the case in the future." The leader of Britain’s teaching union Steve Sinnott concurred. He described the upcoming legislation as "inevitable". He warned: "We cannot afford to neglect those young people who currently leave school at 16 unprepared for the rigors and demands of life in the 21st Century." Toby Ashford, a 16-year-old student from London wasn’t as enthusiastic. He complained that: “It is another example of politicians trying to be Big Brother with young people.”                        (www.BreakingNewsEnglish.com, 18th January, 2007)

                                                                                                     

1/ What type of text is the above passage?
              a) an article?                       b) a speech?                        c) a letter?                         d) an interview?

2/ Are the following statements true, false or not mentioned? 

	a)      The school leaving age for Britain’s kids is set to rise to 18.

	b)      Kids will have a choice of two years at school or workplace training.

	c)      Crime rate is getting higher on British highways.

	d)     In the past, it was easy for Britons to get a job without having qualifications.

e)      A 16-year-old said he wanted to stay at school, like his elder brother.

	 


3/ Read and answer these questions.
                i.            What will happen in 2013?

              ii.            Why does the British government want to raise the school leaving age?

            iii.            Who is Steve Sinnot? How does he find the new legislation?

            iv.            Does Toby Ashford approve of the law?

4/ Read and fill in the table below.
	Person
	Opinion about the new law

	§ Alan Johnson

§  ……………

§ ……………
	……………………………………………

……………………………………………

……………………………………………


  

5/ What type of discourse does the text belong to?
a) expository                                     b) prescriptive                        c) argumentative

B/ Text Exploration(8pts):
1/ What do these words mean in the text? Choose the right meaning.
  To concur means to:                   a) agree                            b) disagree

  Vocational means related to:      a) studies                         b) profession or job

  ‘Loads of’ means:     a) a small number of             b) a big number of                     

2/ Complete the table below
	Verb
	Noun
	Adjective

	……………

……………

to train
	education

……………

……………
	…………..

Successful

……………


  

3/ Rephrase these sentences using the prompts given.
a)    The new law should bring down levels of crime. 

a)    Levels……………………………………………………...

a)    Steve Sinnott warned: "We cannot afford to neglect those young people.”

b)   Steve Sinnott warned ………………………………………………………….

b)   Many British students leave school young and unprepared, so they fail at getting good jobs.

c)    If ……………………………………………………...

4/ Classify these words according to the number of their syllables.
   ensure    –   school   –   government  –   youth –  lesson –   minister

 

	1  syllable 
	2 syllables 
	3 syllables

	………………………
	………………………
	………………………


 

5/ Fill in the gaps so that the passage below makes sense.
            who   -    government    -    children   -   wrong   -    despite     
The British ….1….has announced that school bullying has reached epidemic proportions. Education ministers are thinking of fining the parents. Pupils …2…attack or threaten their classmates could land Mom or Dad with a cash penalty of up to $1,710. Besides, there are proposals to give teachers a “clear right” to discipline …3…and “restrain them through reasonable force”. Schools minister Jacqui Smith said: “Children must know what is right and what is….4…, and that there will be consequences for crossing the line.” …5… the UN convention on the rights of the child, it seems Britain’s schoolchildren have gone crazy tormenting and injuring other students rather than learning.                                                             (www.BreakingNewsEnglish.com, Sep 24th, 2008)

Part I: Writing(5pts):
       Choose one topic only.
Topic (1):  Do you agree with the idea of raising school leaving age to 18? Write a letter to your government about the possibility of changing legislation. Give arguments to support your point of view. Use these notes:

      Reasons of dropouts:   weak level   -   discipline problems  -   social problems ...

      Consequences: smoking  -  drug addiction  -  no qualifications for jobs ...                                                                                                         

                  

Topic (2):  You are a journalist interviewing youngsters about the possibility of raising school-leaving age. Write your interview with one of them.

